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void matvec(double (*A)[N],double p[N],double Ap[N]){

int ,j;
for(i=0;i<N;i++){

Aplil=ZERO;

for(j=0;j<N;j++ )1

Aplil=Ap[il+ALi[1*pljl;

}

}

return;

}

x5 TNEARTNLOREZTOIYV—-RXAI—R

LTETRERADITIA &N NL p. LIBT3 Ap Z3IKICEDD.
4478 (Aplil=ZERO;) T Ap @i 4T 1 SIS =ML T .

5fTENS for HICTHED T AP D i4T 1 FUTITHIAD i 47§ FIBD & AT ML
DTS EDEDELADEERDIRL., WD i ITEORSEEH LTS,
3TET i D% 1 DB LT f2s. 1 Ap HSRES.

3.7 EEITIEARD MLDORE

Bow N =

o

void matvec2(double (*A)[N],double q[N],double Aq[N]){
int i,j;
for(i=0;i<N;i++){
Aq[i]=ZERO;
}

for(i=0;i<N;i++){

#include<stdio.h>
#include<stdlib.h>
#include<math.h>
#define TWO (2.0)
#define ONE (1.0)
#define ZERO (0.0)
#define CONST (1.0E-8)
int N=50;
void matvec(double (*A)[N],double p[N],double Ap[N]){
inti,j;
for(i=0;i<N;i++){
Apli]=ZERO;
for(j=0;j<N;j++){
Aplil=Ap[il+Alil[jI*p[jl;
}
}

return;
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}
void matmul(double (*A)[N],double (*B)[N],double (*C)[N]){
intijk;
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double temp;
for(i=0;i<N;i++){
for(j=0;j<N;j++){
Cli][j]=ZERO;
}
for(k=0;k<N;k++){
temp=Al[i][k];
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